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!"##$%&'(& Compare numbers based on meanings of the digits using <, >, or = to record the 

comparison. 
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1.! Label the units in the place value chart.  Draw place value disks to represent each number in the place 

value chart.  Use <, >, or = to compare the two numbers.  Write the correct symbol in the circle. 

 

 503,421&&&&&>&&& 350,491&
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2.! Compare the two numbers by using the symbols <, >, or =.  Write the correct symbol in the circle. 

 

six hundred two thousand, four hundred seventy-three   <& 600,000 + 50,000 + 2,000 + 700 + 7         &

 


ß
Ù
Û, 
Ý
à
Ü' <' 
ß
Þ
Û, 
à
Ù
à&

 

  Since the value of the largest unit is the same, I 

compare the next largest unit—the ten thousands.  

Zero ten thousands is less than five ten thousands.  

So, 602,473 is less than 652,707.  I record the 

comparison symbol for less than to complete my 

answer. 

It helps me to 

solve if I write 

both numbers in 

standard form. 

I record the value of each digit using place value disks, placing 503,421 in the top half and 350,491 in 

the bottom half of the place value chart.  I can clearly see and compare the unit with the greatest 

value—hundred thousands.  5 hundred thousands is greater than 3 hundred thousands.  503,421 is 

greater than 350,491. 

I record the comparison 

symbol for greater than. 
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!"##$%&'(& Compare numbers based on meanings of the digits using <, >, or = to record the 

comparison. 
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3.! Jill has $1,462, Adam has $1,509, Cristina has $1,712, and Robin has $1,467.  Arrange the amounts of 

money in order from greatest to least.  Then, name who has the most money. 

 

 

&

&

&

&

&

&

 

 

&

$
Ú, 
à
Ú
Û > $
Ú, 
Þ
Ù
â > $
Ú, 
Ý
ß
à > $
Ú, 
Ý
ß
Û 

/+"&-"%.'(.&'-(,'!$&-'!$%,01 ''

&

-($)&.%*& ()%*+,*& -,%& $%,& 


Ú 

&


Ú 

&


Ú 

&


Ú&


Ý 

&


Þ 

&


à 

&


Ý&


ß 

&


Ù 

&


Ú 
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â 
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Û 
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à&

I notice 1,462 

and 1,467 both 

have 1 thousand, 

4 hundreds, and 

6 tens.  So, I 

compare the 

ones.  7 ones is 

more than 2 

ones.  1,467 is 

greater than 

1,462.  

Listing the 

amounts of 

money in a place 

value chart helps 

me to see the 

values in each 

unit. 
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G6 "#22!#$!*+1!5,?1.!*,!9,/821*1!*+1!8)**10$.6!!H?82)#$!#$!8#9*-01.'!$-/510.'!,0!>,0%.!+,>!@,-!<,-$%!@,-0!
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!
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Ü
Ý
Þ#
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Þ
Ý
Þ#
â
à
Þ& &.) #'*) ! 
à
Ý
Þ#
â
à
Þ&

&

/-)*,%-'0,&1$%&,'23'

4'&,,'-(.-'-(,'()%*+,*'-($)&.%*')%"- '"%5+,.&,&6''7(,'$-(,+')%"-&'+,!."%'-(,'&.!,6' '4%'-(,'8"+&-'%)!9,+ :'
-(,+,'.+,' 
Û'()%*+,*'-($)&.%*&6''7(,%:'-(,+,'.+,' 
Ý'()%*+,*'-($)&.%*&'.%*' 
ß'()%*+,*'-($)&.%*& 6''4'5.%'
8"##'"%'-(,'9$;,&'<"-('
Ü'()%*+,*'-($)&.%*&:' 
Þ'()%*+,*'-($)&.%*&:'.%*' 
à'()%*+,*'-($)&.%*&6''=.5('
%)!9,+'"%'-(,'1.--,+%' "%5+,.&,&'9>'
Ú'()%*+,*'-($)&.%* ',.5('-"!, 6'''

&

&

/-)*,%-'0,&1$%&,'?3'

7(,'%)!9,+&' "%5+,.&,'9>'
Ú
Ù
Ù#
Ù
Ù
Ù',.5('-"!,6 '

&

&

&

&

&

&

&

&

&


Û
Ý
Þ#
â
à
Þ/ 
Ú
Ù
Ù#
Ù
Ù
Ù- 
Ü
Ý
Þ#
â
à
Þ$$


Ü
Ý
Þ#
â
à
Þ/ 
Ú
Ù
Ù#
Ù
Ù
Ù- 
Ý
Ý
Þ#
â
à
Þ$


Ý
Ý
Þ#
â
à
Þ/ 
Ú
Ù
Ù#
Ù
Ù
Ù- 
Þ
Ý
Þ#
â
à
Þ$


Þ
Ý
Þ#
â
à
Þ/ 
Ú
Ù
Ù#
Ù
Ù
Ù- 
ß
Ý
Þ#
â
à
Þ$


ß
Ý
Þ#
â
à
Þ/ 
Ú
Ù
Ù#
Ù
Ù
Ù- 
à
Ý
Þ#
â
à
Þ$

()%*+,*'
-($)&.%*&'

-,%'
-($)&.%*&'

-($)&.%*&! ()%*+,*&! -,%&! $%,&!


Û$


Ü$


Ý$


Þ$


ß$


à&


Ý$


Ý$


Ý$


Ý$


Ý$


Ý&


Þ$


Þ$


Þ$


Þ$


Þ$


Þ&


â$


â$


â$


â$


â$


â&


à$


à$


à$


à$


à$


à&


Þ$


Þ$


Þ$


Þ$


Þ$


Þ&

E!)$.>10!*+1!B-1.*#,$'!ID01!*+1!$-/510.!#$!*+1!
8)**10$!30,>#$3!,0!.+0#$;#$3J!!K@!+,>!/-9+JL!!

E!>0#*1!)!.10#1.!,<!$-/510!.1$*1$91.!*,!.+,>!*+1!.)/1!
9+)$31!1)9+!*#/16!!F+1!0-21!,<!*+1!8)**10$!#.!I)%%!!"" #""" 6L!!

E!B-#9;2@!>0#*1!$-/10)2.!#$.*1)%!,<!$-/510!%#.;.6!!
E!9)$!.11!921)02@!*+)*!*+1!+-$%01%!*+,-.)$%.!
#$901).16!!F+1!,*+10!4)2-1.!%,$M*!9+)$316!!
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!"##$%&'(& "#$%&!'$()*+&*,*)!%$'-./0!)#!)1.!)1#$02%&0!3(24.!$0*%,!)1.!5./)*42(!%$'-./!
(*%.6!

!

!!!!& ) �{�í!&&&&&&&&

*) +�D�í+!"##$%&'&

76! "#$%&!)#!)1.!%.2/.0)!)1#$02%&6!!80.!)1.!%$'-./!(*%.!)#!'#&.(!9#$/!)1*%:*%,6!

26! !"#$%!
N!!!!!!!!!!!!!!!!!!!!!!!!
Ý"
Ù
Ù
Ù!!!!!!!!!!!!!!!!!!!!!!!!!! -6!!!&! "'(# !
N!!!!!!!!!!!!!!!!!!!!!!!!
Þ
Ü"
Ù
Ù
Ù!!!!!!!!!!!!!!!!!!!!!!!!!!!!

!

&

&

&

&

&

&

&

&

&

&

&

!

;6! <%!')%! =!)1.!>2'*(9!5242)*#%!4#0)!* !"+)# 6!!<%!')%$ "!)1.!>2'*(9!5242)*#%!4#0)!*$"(## 6!!?1.!>2'*(9!-$&,.).&!
2-#$)!*$"))) ,>#/!.241!5242)*#%6!!<%!@1*41!9.2/!&*&!)1.!>2'*(9!0)29!4(#0./!)#!)1.*/!-$&,.)A! !"#$%&!)#!)1.!
%.2/.0)!)1#$02%&6!!80.!@12)!9#$!:%#@!2-#$)!3(24.!52($.!)#!.B3(2*%!9#$/!2%0@./6!

&

&

&

!

&

!"#
Û
Ù
Ú
Ü$#%&'(#)%*('+#,-.)'/#%.#%&'0/#12+3'%4##!#5".6#
1',*2)' #* 
Ü"
á
Ù
â#/.2"+'+#%.#%&'#"'*/')%#%&.2)*"+#0)#
* 
Ý"
Ù
Ù
Ù"#*"+#* 
Ý"
ß
â
â#/.2"+'+#%.#%&'#"'*/')%#%&.2)*"+#0)#
* 
Þ"
Ù
Ù
Ù4##!"#
Û
Ù
Ú
Ý$#%&'#7*80-(#6'"%#.9'/#%&'0/#12+3'%#1(#
*1.2%#* 
Ú"
Ù
Ù
Ù4#

C!5./)*42(!%$'-./!
(*%.!2((#@0!'.!)#!
(*%.!$3!)1.!&*,*)0!*%!
)1.!%$'-./0!<!
/.4#/&6!!<)!2(0#!
2((#@0!'.!)#!'#/.!
.20*(9!)1*%:=!D"#$%&!
!" !#/!/#$%&!#$%&AE!


Ü"
Þ
Ù
Ù,


Ý"
Ù
Ù
Ù,


Ü"
Ù
Ù
Ù,


Ü"
â
Ý
Ú,

* 
Ý"
Þ
Ù
Ù,

* 
Ý"
Ù
Ù
Ù,

* 
Ý"
ß
â
â,

* 
Þ"
Ù
Ù
Ù,

* 
Ü"
Þ
Ù
Ù,

* 
Ü"
Ù
Ù
Ù,

* 
Ü"
á
Ù
â,

* 
Ý"
Ù
Ù
Ù,

?1./.!2/.! ! !
)1#$02%&0!*%!! "#$%6!!
%!'#/.!)1#$02%&!*0!
$!)1#$02%&06!!<!'2/:!
!" ))) !2%&!$"))) !20!
)1.!.%&3#*%)0!#>!2!
5./)*42(!%$'-./!(*%.6!


Þ
Ü"
Þ
Ù
Ù,


Þ
Ü"
Ù
Ù
Ù,


Þ
Ü"
Û
ß
â,


Þ
Ý"
Ù
Ù
Ù,

&! "'(# !*0!(.00!)12%!&! "&)) 6!!
&! "'(# ,*0!4(#0./!)#!&! "))) !)12%!
&$"))) 6!!&! "'(# !/#$%&.&!)#!)1.!
%.2/.0)!)1#$02%&!*0!&! "))) 6!!

<!&/2@!)@#!%$'-./!(*%. 0=!#%.!
>#/!.241!9.2/6!
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Lesson 8: "#$%&!'$()*+&*,*)!%$'-./0!)#!1%2!3(14.!$0*%,!)5.!6./)*41(!%$'-./!(*%.7!
!

!!!! 4�{�í! 

G4-�D�í-Lesson 8 

 8#'3(.).!.145!0)1).'.%)!-2!/#$%&*%,!)5.!%$'-./!)#!)5.!,*6.%!3(14.!61($.7!!90.!)5.!%$'-./!(*%.!)#!05#:!
2#$/!:#/;7 !

17 41,899!/#$%&.&!)#!)5.!%.1/.0)!).%!)5#$01%&!*0!!!!!!!!!!!!!!!!!!!!!!
Ý
Ù, 
Ù
Ù
Ù                 !!!!!!!
!

!

!

!

!

!

!

!

!

!

-7 267,072!/#$%&.&!)#!)5.!%.1/.0)!5$%&/.&!)5#$01%&!*0!!!!!!!!!!!!!!!!!!!!!!
Ü
Ù
Ù, 
Ù
Ù
Ù                 !!!!!!!

!

 

 

 

 

 

 

 

 

 

 

 

 


Ý
Þ, 
Ù
Ù
Ù 


Ý
Ù, 
Ù
Ù
Ù 


Ý
Ú, 
á
â
â 


Þ
Ù, 
Ù
Ù
Ù 


Û
Þ
Ù, 
Ù
Ù
Ù 


Û
Ù
Ù, 
Ù
Ù
Ù 


Û
ß
à, 
Ù
à
Û 


Ü
Ù
Ù, 
Ù
Ù
Ù 

<1(=:12!-.):..%! 200,000!
1%&!300,000!*0!250,000.!

>!(1-.(!41,899!#%!)5.!
%$'-./!(*%.!1%&!%#)*4.!
*)!*0!(.00!)51%!45,0007!!

>!10;!'20.(=?!@<#:!'1%2!
).%!)5#$01%&0!*%!41,899A!!
B51)!*0 1!'#/.!).%!
)5#$01%&AC!!!

>!;%#:!)51)!)5./.!1/.! 2!
5$%&/.&!)5#$01%&0!*%!
267,0727!!D%.!'#/.!
5$%&/.&!)5#$01%&!*0!3!
5$%&/.&!)5#$01%&07!

 

14

!"#$%"&' !$()$& *+,-"&.+"/+012-3

© 2015 Great Minds eureka-math.org 
G4-M1-HtH-1.ϯ.0-0ϴ.2015



�î�ì�í�ñ�r�í�ò
!
!
!
!
!

!

Lesson 8: "#$%&!'$()*+&*,*)!%$'-./0!)#!1%2!3(14.!$0*%,!)5.!6./)*41(!%$'-./!(*%.7!
!

!!!! 4�{�í! 

 982,510 -##;0 !:./.!&#:%(#1&.&!*%!#%.!2.1/7!!"#$%&!)5*0!%$'-./!)#!)5.!%.1/.0)!5$%&/.&!)5#$01%&!)#!
.0)*'1).!5#:!'1%2! -##;0 !:./.!&#:%(#1&.&!*%!#%.!2.1/7!!90.!1!%$'-./!(*%.!)#!05#:!2#$/!:#/;7!

!

!

!

!

!

!

!

!

!

 

!"#$%&
Ú&'())(#*&"##+,&-./.&0#-*)#10.0&(*&#*.&2.1/3&&&

!

 E0)*'1).!)5.!&*==./.%4.!-2!/#$%&*%,!.145!%$'-./!)#!)5.!,*6.%!3(14.!61($.7!

519,240 – 339,705 
!

17 "#$%&!)#!)5.!%.1/.0)!5$%&/.&!)5#$01%&7!


Þ
Ù
Ù, 
Ù
Ù
Ù – 
Ü
Ù
Ù, 
Ù
Ù
Ù= 
Û
Ù
Ù, 
Ù
Ù
Ù 

 

-7 "#$%&!)#!)5.!%.1/.0)!).%!)5#$01%&7!


Þ
Û
Ù, 
Ù
Ù
Ù – 
Ü
Ý
Ù, 
Ù
Ù
Ù= 
Ú
á
Ù, 
Ù
Ù
Ù 

 

 

 

 

 

F5./.!1/.! 9!5$%&/.&!)5#$01%&0!*%!
982,5107!!1!'#/.!5$%&/.&!)5#$01%&!
*0!10 5$%&/.&!)5#$01%&0?!#/!1!'*((*#%7!!
>!(1-.(!'2!.%&3#*%)0!900,000!1%&!
1,000,0007!!<1(=:12!*0!950,0007!


â
Þ
Ù, 
Ù
Ù
Ù 


â
Ù
Ù, 
Ù
Ù
Ù 


â
á
Û, 
Þ
Ú
Ù 


Ú, 
Ù
Ù
Ù, 
Ù
Ù
Ù 

F5*%;*%,!*%!$%*)!(1%,$1,.!'1;.0!)5*0!
0$-)/14)*#%!.102G!!520!)5#$01%&0!'*%$0!
340 )5#$01%&0!.H$1(0!180!)5#$01%&07!!

!
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!

!!!!& ) �{�í!&

*) +�D�í+!"##$%&'&

76! 81*+,!.1!.9$!+$'-$#.!.91*#'+,6 !

'6! !"#$%!
N!!!!!!!!!!!!!!!!!
á"
Ù
Ù
Ù&&&&&&&&&&&&&&&&&!!!!!!!
!

46! &'( ")'$ !
N!!!!!!!!!!!!!!!!!
Ü
Ù
Ú"
Ù
Ù
Ù!!!!!!!!!!!!!!!
!

(6! :;%&'/+!91<!51*!=1*+,!51*-!'+#<$-!=1-!>'-.!?4@6!

! "#$#%&$#%
Ü
Ù
Ú%'"()*&+,*%-+%
Ü
Ù
Ú"
Ý
Ù
â*%%.+#%/($#%'"()*&+,%-*%
Ü
Ù
Û%'"()*&+,*0%%1&234&5%6#'4##+%

Ü
Ù
Ú%'"( )*&+,*%&+,%
Ü
Ù
Û+'"()*&+,*%-*%
Ü
Ù
Ú%'"()*&+,*%
Þ%")+,$#,* 0%%
Ü
Ù
Ú"
Ý
Ù
â%-*%2#**%'"&++
Ü
Ù
Ú"
Þ
Ù
Ù*%%
!"#$#3($#7%
Ü
Ù
Ú"
Ý
Ù
â%$()+,#,%'(%'"#%+#&$#*'%'"()*&+,%-*%
Ü
Ù
Ú"
Ù
Ù
Ù0%

!

!

A6! 81*+,!.1!.9$!+$'-$#.!.$+!.91*#'+,6 !
!

'6! !& "$$$!
N!!!!!!!!!!!!!!!!!!!!!!
à
Ù"
Ù
Ù
Ù&&&&&&&&&&&&&&&&!!!!!!!!!!!!!! !
! !

46! ,# "''- !
N!!!!!!!!!!!!!!!!!!!!!!
à
Ù"
Ù
Ù
Ù!!!!!!!!!!!!!!!!!!!!!!!!!!!
!

(6! :;%&'/+!<95!.9$!.<1!%-14&$2#!9')$!.9$!#'2$!'+#<$-6!!B-/.$!'+1.9$-!+*24$-!.9'.!9'#!.9$!#'2$!
'+#<$-!<9$+!-1*+,$,!.1!.9$!+$'-$#.!.$+!.91*#'+,6 !

8+5%+)/6#$%#9)&2%'(%($%:$#&'#$%'"&+%
ß
Þ"
Ù
Ù
Ù%&+,%2#**%'"&+%
à
Þ"
Ù
Ù
Ù%4-22%$()+,%'(%
à
Ù"
Ù
Ù
Ù%4"#+%
$()+,#,%'(%'"#%+#&$#*'%'#+%'"()*&+,0%%
ß
Þ"
Ù
Ù
Û%-*%:$#&'#$%'"&+%
ß
Þ"
Ù
Ù
Ù7%&+,%
à
Ü"
â
â
â%-*%2#**%'"&+%

à
Þ"
Ù
Ù
Ù0%%8+('"#$%+)/6#$%'"&'%4()2,%$()+,%'(%
à
Ù"
Ù
Ù
Ù%-*%
ß
á"
Û
Ü
Ý0%

!

!

!

!

!

!

!

!

!

C!-$2$24$-!=-12!D$##1+!E!91<!.1!
-1*+,!.1!.9$!+$'-$#.!.91*#'+,6 !

C!2'5!+$$,!.1!,-'<!'!+*24$-!&/+$!
.1!)$-/=5!25!'+#<$-6!
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!"##$%&'(& "#$!%&'($!)'&*$!*+,$-#.'+,/+0!.1!-1*+,!2*&./3,/0/.!+*24$-#!.1!'+5!%&'($!)'&*$6!
!

!!!!& ) �{�í!&

F1&)$!.9$!=1&&1</+0!%-14&$2#!*#/+0!%/(.*-$#G!+*24$-#G!1-!<1-,#6!

H6! I41*.! !'' "''' !%$1%&$!2'J$!*%!.9$!%1%*&'./1+!1=!I2$-/('.1<+ 6!!C=!.9$!%1%*&'./1+!<'#!-1*+,$,!.1!.9$!
+$'-$#.!9*+,-$,!.91*#'+,G! <9'.!(1*&,!4$!.9$!0-$'.$#.!'+,!&$'#.!+*24$-!1=!%$1%&$!<91!2'J$!*%!.9$!
%1%*&'./1+!1=!I2$-/('.1<+K!!

&

&

&

&

&

&

&

&

&

!" #%:$#&'#*'%+)/6#$%(3%;#(;2#%'"&'%<()2,%/&=#%);%'"#%;(;)2&'-(+ %-*%
à
Ý
â"
â
â
â0%%>%=+(4%6#<&)*#%-'%-*%
Ú%
3#4#$%'"&+%
à
Þ
Ù"
Ù
Ù
Ù0%%!"#%2#&*'%+)/6#$%(3%;#(;2#%'"&'%<()2,%/&=#%);%'"#%;(;)2&'-(+ %-*%
ß
Þ
Ù"
Ù
Ù
Ù*%

I&&!+*24$-#!&$##!.9'+!
!#' "''' !-1*+,!.1!
!'' "''' !<9$+!
-1*+,/+0!.1!.9$!
+$'-$#.!9*+,-$,!
.91*#'+, 6!!L9$-$=1-$G!
!)$ "$$$!/#!.9$!
&'-0$#.!+*24$-!.9'.!
-1*+,#!.1!!'' "''' *!!


à
Þ
Ù"
Ù
Ù
Ù+


à
Ù
Ù"
Ù
Ù
Ù+


à
Ý
â"
â
â
â+


á
Ù
Ù"
Ù
Ù
Ù+ I&&!+*24$-#!
0-$'.$-!.9'+!1-!
$M*'&!.1!
,#' "''' +-1*+,!
.1!!'' "''' 6!!
L9$-$=1-$G!
,#' "''' !/#!.9$!
#2'&&$#.!
+*24$-!.9'.!
-1*+,# !.1!
!'' "''' 6!!!


ß
Þ
Ù"
Ù
Ù
Ù+


ß
Ù
Ù"
Ù
Ù
Ù+


à
Ù
Ù"
Ù
Ù
Ù+
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!"##$%&'()& "#$!%&'($!)'&*$!*+,$-#.'+,/+0!.1!-1*+,!2*&./3,/0/.!+*24$-#!.1!'+5!%&'($!)'&*$!
*#/+0!-$'&!61-&,!'%%&/('./1+#7!

!

!!!!& * �{�í!&

+* ,-' ,!"##$%&'(&

! 81*+,! !"# $%%&!.1!.9$!+$'-$#.!
!

'7! .91*#'+,: !!!!!!!!!!!!!!!!!!!&
à
Ý
Þ$
Ù
Ù
Ù'&&&&&&&&&!

47! .$+!.91*#'+,: !!!!!!!!!!!!!!!!!!!!&
à
Þ
Ù$
Ù
Ù
Ù''&&&&&&!

(7! 9*+,-$,!.91*#'+,: !!!!!!!!!!!!!!!!!!&
à
Ù
Ù$
Ù
Ù
Ù&&&&!

!

!

;1&)$!.9$!<1&&16/+0!%-14&$2!*#/+0!%/(.*-$#=!+*24$-#=!1-!61-,#7!

! (! $)"* !%$1%&$!#*4#(-/4$!.1!.9$!,$&/)$-5!1<!'!&1('&!+$6#%'%$-7!!>1!,$(/,$!'41*.! 916!2'+5!%'%$-#!.1!%-/+.=!
69'.!%&'($!)'&*$!#91*&,!(! $)"* !4$!-1*+,$,!.1!#1!$'(9!%$-#1+!-$($/)$#!'!(1%5?!!@A%&'/+7!

!

 

&

&&

&

&

&

&

&

&


Ü
à$
Û
Ý
á should be rounded to the nearest ten thousand or the 
nearest ten.  Extra papers will be printed, but if I round to the 
nearest hundred thousand, thousand, or hundred, there won’t be 
enough papers printed. 

B!-$2$24$-!<-12!C$##1+!D!.1!</+,!916!2'+5!
.$+!.91*#'+,#!'+,!916!2'+5!9*+,-$,!
.91*#'+,#!'-$!/+! !"# $%%&7!!>9$+=!',,!1+$!
21-$!1<!.9'.!*+/.!.1!</+,!.9$!$+,%1/+.#7!

B!-$2$24$-!<-12!C$##1+!E!.1!'#F!25#$&<=!
GH$.6$$+!69'.!.61!.91*#'+,#!/#!!"# $%%&?I!!
B!.-5!.1!%/(.*-$!.9$!+*24$-!&/+$!/+!25!9$',7!!!!

J-'6/+0!+*24$-!
&/+$#!9$&%#!.1!%-1)$!
25!6-/..$+!'+#6$-7!


Ü
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Ù
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Ü
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Ù
Ù
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Ý
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Ù
Ù
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Ü
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Ù
Ù
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Ü
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Û
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Ü
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Ù
Ù
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Ü
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Û
Þ
Ù'


Ü
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Û
Ù
Ù'


Ü
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Û
Ý
á'


Ü
à$
Ü
Ù
Ù'


Þ
Ù$
Ù
Ù
Ù'


Ù'


Ü
à$
Û
Ý
á'


Ú
Ù
Ù$
Ù
Ù
Ù'


Ü
à$
Û
Ý
Þ'


Ü
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Û
Ý
Ù'


Ü
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Û
Ý
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Ü
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Û
Þ
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Lesson 11:  Use place value understanding to fluently add multi-digit whole numbers
using the standard addition

 
algorithm, and apply the algorithm to solve

word problems using tape diagrams.
 

 

     4�{�í  

G4-M1-Lesson 11   

1. Solve the addition problems using the standard algorithm.  

a.        b.                    c.   38,192 + 6,387 + 241,458 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

2. Draw a tape diagram to represent the problem.  Use numbers to solve, and write your answer as a 
statement. 
In July, the ice cream stand sold some ice cream cones.  3,907 were vanilla.  2,568 were not vanilla.  How 
many cones did they sell in July? 

 
 
 

 

     
Ü, 
â
Ù
à+ 
Û, 
Þ
ß
á= �o 

 

I have to regroup ones.  
4 ones + 7 ones = 11 
ones.  11 ones equals 1 
ten 1 one.  I record 1 
ten in the tens place on 
the line.  I record 1 one 
in the ones column as 
part of the sum.     
  

I add tens.  2 tens + 5 tens + 1 ten = 8 tens.  I 
record 8 tens in the tens column as part of the sum. 

The ice cream stand sold 
ß, 
Ý
à
Þ cones in July. 

The order of the 
addends doesn’t 
matter as long as like 
units are lined up.     

I write an equation.  
Then, I solve to find 
the total.  I write a 
statement to tell my 
answer.  

No regroupings here!  
I just add like units.  2 
ones plus 7 ones is 9 
ones.  I put the 9 in 
the ones column as 
part of the sum.  
Then, I continue to 
add the number of 
units of tens, the 
hundreds, and the 
thousands. 

I can draw a tape diagram.  I 
know the two parts, but I don’t 
know the whole.  I can label the 
unknown with a variable, �%.  

�o 
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Þ
ß
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Ü 
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Ü 
á 
à 

+ 
Û 
Ý 
Ú, 
Ý 
Þ 
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Ú      
Ú       
Û       
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Û 
á 
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Ü 
à 
 

 
Ü, 
â 
Ù 
à 
+ 
Û, 
Þ 
ß 
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Ú                   
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ß, 
Ý 
à 
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Using an algorithm means that the 
steps repeat themselves unit by unit.  It 
can be an efficient way to solve a 

 

 5, 1 2 2 
+ 2, 4 5 7 

                                                  
 
à, 
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+ 2, 4 5 7 
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Lesson 12: Solve multi-step word problems using the standard addition algorithm
modeled with tape diagrams, and assess the reasonableness of answers
using rounding.

 
 

     4�{�í  

G4-M1-Lesson 12 

Estimate and then solve.  Model the problem with a tape diagram.  Explain if your answer is reasonable.  

1.! There were 4,806 more visitors to the zoo in the month of July than in the month of June.  June had 6,782 
visitors.  How many visitors did the zoo have during both months? 

 

 

 

 

 

 

a.! About how many visitors did the zoo have during June and July? 


à, 
Ù
Ù
Ù+ 
à, 
Ù
Ù
Ù+ 
Þ, 
Ù
Ù
Ù= 
Ú
â, 
Ù
Ù
Ù 

The zoo had about 
Ú
â, 
Ù
Ù
Ù visitors during June and July. 

 

 

b.! Exactly how many visitors did the zoo have during June and July? 

 

  

 

 

 

The zoo had exactly 
Ú
á, 
Ü
à
Ù visitors during June and July.  

 

c.! Is your answer reasonable?  Compare your estimate to the answer.  Write a sentence to explain your 
reasoning. 

Sample Response:  My answer is reasonable because my estimate of 
Ú
â, 
Ù
Ù
Ù is only about 
ß
Ù
Ù 
more than the actual answer of 
Ú
á, 
Ü
à
Ù.  My estimate is greater than the actual answer because I 
rounded each addend up to the next thousand.  

 

To estimate the total, I round each 
number to the nearest thousand 
and add those numbers together.   

July
 

June 


Ý, 
á
Ù
ß 

�‚  


ß, 
à
á
Û 

When I look at my tape diagram, I see that I don’t have 
to solve for July to find the total.  This saves me a step. 
 

 
ß, 
à 
á 
Û 
 
ß, 
à 
á 
Û 

+ 
Ý, 
á 
Ù 
ß 
             
Û        
Ú        
Ú             
 
Ú 
á, 
Ü 
à 
Ù 

 

Since the problem states the relationship 
between June and July, I can draw two tapes.  
I make July’s tape longer because there were 
more visitors in July.  I partition July’s tape 
into two parts:  one part for the number of 
people in June and the other part for 
4,806 more visitors.  
 

 

20

!"#$%"&' !$()$& *+,-"&.+"/+012-3

© 2015 Great Minds eureka-math.org 
G4-M1-HtH-1.ϯ.0-0ϴ.2015



�î�ì�í�ñ�r�í�ò
 
 
 
 
 

 

Lesson 12: Solve multi-step word problems using the standard addition algorithm
modeled with tape

 
diagrams, and assess the reasonableness

of answers using rounding.
 

 

     4�{�í  

2.! Emma’s class spent four months collecting pennies.    
a.! During Month 3, the class collected 1,211 more 

pennies than they did during Month 2.  Find the total 
number of pennies collected in four months.   

 
 
 
 
 
 
 
 
 
 


Þ, 
Ù
Ù
Ù+ 
â, 
Ù
Ù
Ù+ 
â, 
Ù
Ù
Ù+ 
Ú, 
Ù
Ù
Ù+ 
á, 
Ù
Ù
Ù= 
Ü
Û, 
Ù
Ù
Ù 

 

 

 

 

 

 

 

The total number of pennies collected  
in four months was 
Ü
Ú, 
á
Ù
á. 

 

 

b.! Is your answer reasonable?  Explain. 

Sample Response:  My answer is reasonable.  
Ü
Ú, 
á
Ù
á is only about 
Û
Ù
Ù less than the estimate of 

Ü
Û, 
Ù
Ù
Ù. 

Month Pennies Collected 


Ú 
Ý, 
â
á
à 


Û 
á, 
à
Ù
â 


Ü  


Ý 
á, 
Ú
â
Û 

I draw four tapes to represent each 
month.  Now, I can see how many  
pennies were collected in Month 3. 

To find the total pennies collected in the four 
months, I could solve for Month 3 and then add all 
of the months together to solve for �2.  Instead, I 
just add the value of each of the tapes together.  
The tape diagram shows me how to solve this in 
one step, not two. 

I add in unit form:  5 thousands + 9 thousands 
+ 9 thousands + 1 thousand + 8 thousands = 32 
thousands.  32 thousand is an estimate of the 
total number of pennies collected in four months. 

Month 1 

Month 2 
Ú, 
Û
Ú
Ú 


Ý, 
â
á
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á, 
à
Ù
â 

�|  

á, 
à
Ù
â Month 3 

Month 4 
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Ú
â
Û 
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á 
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Ú 
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Û            
 
Ü 
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Lesson 13:
 

Use place value understanding to decompose to smaller units once using��
�š�Z����standard subtraction algorithm, and apply the algorithm to solve 
word

 
problems using tape diagr

 
ams.

    4�{�í  

G4-M1-Lesson 13 

Use the standard algorithm to solve the following subtraction problems. 
a.    b.    

 
 
 
 
 
 

c. 3,532 – 921

What number must be added to 23,165 to result in a sum of 46,884? 


Û
Ü, 
Ú
ß
Þ+ �” = 
Ý
ß, 
á
á
Ý 


Û
Ü, 
à
Ú
â!"#$%!&'!())')!%*! 
Û
Ü, 
Ú
ß
Þ+!

Just like in Lesson 11, I write the 
problem in vertical form, being 
sure to line up the units.     

I look across the top number to see if I can 
subtract.  I have enough units, so no 
regroupings!  I just subtract like units.  7 ones 
minus 7 ones is 0 ones.  I continue to subtract 
the number of units of tens, hundreds, and 
thousands. 

I don’t have enough tens to subtract 5 tens from 
3 tens.  I decompose 1 hundred for 10 tens.  

To solve a word problem, I 
use RDW:  Read, Draw, 
Write.  I read the problem.  I 
draw a picture, like a tape 
diagram, and I write my 
answer as an equation and a 
statement. 

Now, I have 4 hundreds.  I 
show this by crossing off 
the 5 and writing a 4 in 
the hundreds place 
instead.  10 tens + 3 tens 
= 13 tens.  I show this by 
crossing off the 3 tens and 
writing 13 in the tens 
place instead. 


Û
Ü, 
Ú
ß
Þ �” 


Ý
ß, 
á
á
Ý 

6, 5 6 7 

F 1, 4 5 7 


Þ, 
Ú 
Ú 
Ù 


Ý 
Ú
Ü 
6, 5 3 7 


F 2, 4 5 7 

Ý, 
Ù 
á 
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Û 
Ú
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Ü, 
Þ 
Ü 
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F  
â 
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Ú 

Û, 
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Ú 
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Ú
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Ý 
ß, 
á 
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F 
Û 
Ü, 
Ú 
ß 
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Û 
Ü, 
à 
Ú 
â 
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Draw a tape diagram to model the problem.  Use numbers to solve, and write your answer as a statement. 
Check your answer. 

Mr. Swanson drove his car 5,654 miles.  Mrs. Swanson drove her car some miles, too.  If they drove 
11,965 miles combined, how many miles did Mrs. Swanson drive? 


Ú
Ú, 
â
ß
Þ – 
Þ, 
ß
Þ
Ý= �y  

!

,-$+!./(0$*0!)-*1'! 
ß, 
Ü
Ú
Ú!"23'$+!


Þ, 
ß
Þ
Ý �y  


Ú
Ú, 
â
ß
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Ù 
Ú
Ú 

Ú 
Ú, 
â 
ß 
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F 
Þ, 
ß 
Þ 
Ý 

ß, 
Ü 
Ú 
Ú 

 
ß, 
Ü 
Ú 
Ú 
+ 
Þ, 
ß 
Þ 
Ý 

           
Ú 
Ú, 
â 
ß 
Þ 

To check my answer, I add the 
difference to the known part.  It equals 
the whole, so I subtracted correctly. 
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Stella had 
Ü
Ú
Ù, 
ß
Þ
Û more visits than Raquel. 
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Þ
Ý
Û, 
Ù
Ù
Ù
F
Û
Ü
Ú, 
Ü
Ý
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�p = 
Ü
Ú
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ß
Þ
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Ü
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Lesson 15: Use place value understanding to fluently decompose to smaller units 
multiple times in any place using the standard subtraction algorithm, and 
apply the algorithm to solve word problems using tape diagrams. 

     4�{�í  

G4-M1-Lesson 15   

Use the standard subtraction algorithm to solve the problem below.  
1.  

 

 

 

 

Sample Student A Response: 

 

 

 

 

 

Sample Student B Response: 

 

 

 

 

 

 

 

 

 

  

I am not ready to subtract.  
I must regroup.   

I work unit by unit, starting with the ones.  I can rename 
4 hundreds as 3 hundreds 10 tens.  Then, I rename 10 
tens as 9 tens 10 ones.  I’ll continue to decompose until I 
am ready to subtract. 

I need more than 3 hundreds to subtract 6 
hundreds.  I can rename the 600 thousands as 599 
thousands 10 hundreds.  10 hundreds plus 3 
hundreds is 13 hundreds.  

I need more ones.  I unbundle 40 tens as 39 tens 10 ones.  

 6 0 0, 4 0 0 

F  7 2, 6 4 9 
       

 

  
â 
â 
Ú
Ü 
â  
 
Þ 
Ú
Ù 
Ú
Ù 
Ü 
Ú
Ù 
Ú
Ù 
 6 0 0, 4 0 0 


F  7 2, 6 4 9 
 
Þ 
Û 
à, 
à 
Þ 
Ú 

 

    
Ú
Ü   
 
Þ 
â 
â 
Ü 
â 
Ú
Ù 
 6      0      0, 4      0  0 


F  7 2, 6 4 9 
 
Þ 
Û 
à, 
à 
Þ 
Ú 
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Use a tape diagram and the standard algorithm to solve the problem below.  Check your answer. 

2. The cost of the Johnston’s new home was $200,000.  They paid for most of it and now owe $33,562.  
How much have they already paid? 

 

     

 

  

 

Sample Student A Response: 

 

 

 

 

Sample Student B Response:  

 

 

 

 

 

 

  

 

 

The Johnstons have already paid $
Ú
ß
ß, 
Ý
Ü
á.  

$
Û
Ù
Ù, 
Ù
Ù
Ù 

 

�|  $
Ü
Ü, 
Þ
ß
Û 

I rename 20,000 tens as 19,999 tens 10 ones. 
 

There are a lot of decompositions!  

$
Û
Ù
Ù, 
Ù
Ù
Ù
F$
Ü
Ü, 
Þ
ß
Û= �|  

 

  
â 
â 
â 
â  
 
Ú 
Ú
Ù 
Ú
Ù 
Ú
Ù 
Ú
Ù 
Ú
Ù 
 
Û 
Ù 
Ù, 
Ù 
Ù 
Ù 


F  
Ü 
Ü, 
Þ 
ß 
Û 
 
Ú 
ß 
ß, 
Ý 
Ü 
á 

 

       
 
Ú 
â 
â 
â 
â 
Ú
Ù 
 
Û      
Ù      
Ù,      
Ù       
Ù 
Ù 


F  
Ü 
Ü, 
Þ 
ß 
Û 
 
Ú 
ß 
ß, 
Ý 
Ü 
á 

 

I check my answer by adding the two parts.  The sum is 
equal to the cost of the new home.  My answer is correct! 

 
Ú 
ß 
ß, 
Ý 
Ü 
á 
+  
Ü 
Ü, 
Þ 
ß 
Û 

              
Ú       
Ú        
Ú        
Ú        
Ú              
  
Û 
Ù 
Ù, 
Ù 
Ù 
Ù 
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Lesson 16: "#$%&!'(#)*'&+!(#,-!+,#.$&/*!0*123!'4&!*'52-5,-!*0.',56'1#2!5$3#,1'4/!
7$0&2'$8!/#-&$&-!(1'4!'5+&!-153,5/*9!52-!5**&**!'4&!,&5*#25.$&2&**!#7!
52*(&,*!0*123!,#02-123:!

!!!! 4�{�í! 

G4-M1-Lesson 16 

;:  <2!1'*!'4,&&!/#2'4*!#7!*0//&,!.0*12&**9!'4&!$#65$!16&!6,&5/!*'52-!45-!5!'#'5$!#7!$94,326!12!*5$&*:!!=4&!
71,*'!/#2'4>*!*5$&*!(&,&!$24,3149!52-!'4&!*&6#2-!/#2'4>*!*5$&*!(&,& $30,867:!!!

!

!

!

!

!

5: ?#02-!&564!%5$0&!'#!'4&!2&5,&*'!'&2!'4#0*52-!'#!&*'1/5'&!'4&!*5$&*!#7!'4&!'41,-!/#2'4:!

$
Û
Ý, 
Ü
Ú
Ý
N$
Û
Ù, 
Ù
Ù
Ù   $
Û
Ù, 
Ù
Ù
Ù+ $
Ü
Ù, 
Ù
Ù
Ù= $
Þ
Ù, 
Ù
Ù
Ù 

$
Ü
Ù, 
á
ß
à
N$
Ü
Ù, 
Ù
Ù
Ù   $
â
Ù, 
Ù
Ù
Ù
F$
Þ
Ù, 
Ù
Ù
Ù= $
Ý
Ù, 
Ù
Ù
Ù  

$
â
Ý, 
Ü
Û
ß
N$
â
Ù, 
Ù
Ù
Ù   The sales of the third month were about $
Ý
Ù, 
Ù
Ù
Ù.  

 

 

 

.:  @12-!'4&!&A56'!5/#02'!#7!*5$&*!#7!'4&!'41,-!/#2'4:!

!

!

!!!!!!

!

!

!

The exact amount of sales of the third month was $
Ü
â, 
Ú
Ý
Þ.   

 

6: B*&!8#0,!52*(&,!7,#/!+5,'!C5D!'#!&A+$512!(48!8#0,!52*(&,!12!+5,'!C.D!1*!,&5*#25.$&:!

My answer of $
Ü
â, 
Ú
Ý
Þ is reasonable because it is close to my estimate of $
Ý
Ù, 
Ù
Ù
Ù.  The 
difference between the actual answer and my estimate is less than $
Ú, 
Ù
Ù
Ù.   

!

! !

!!

$
Ü
Ù, 
á
ß
à 

$
â
Ý, 
Ü
Û
ß 

$
Û
Ý, 
Ü
Ú
Ý �z 

E4&2!<!5--!'4&!*5$&*!#7!'4&!
71,*'!52-!*&6#2-!/#2'49!<!
,&3,#0+!#2!'4&!$12&:!

<!$5.&$!(45'!<!F2#(:!

=#!&*'1/5'&!'4&!*5$&*!#7!'4&!'41,-!/#2'49!<!*0.',56'!
'4&!*0/!7,#/!'(#!/#2'4*!7,#/!'4&!'#'5$!5/#02':!!! !

 
Û 
Ý, 
Ü 
Ú 
Ý 
+ 
Ü 
Ù, 
á 
ß 
à 

                       
Ú                    
Ú               
 ! 
Þ 
Þ, 
Ú 
á 
Ú 

!

 
á 
Ú
Ý 
Û 
Ú
Û  
 
â 
Ý, 
Ü 
Û 
ß 


F 
Þ 
Þ, 
Ú 
á 
Ú 
 
Ü 
â, 
Ú 
Ý 
Þ 

!
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Lesson 16: "#$%&!'(#)*'&+!(#,-!+,#.$&/*!0*123!'4&!*'52-5,-!*0.',56'1#2!5$3#,1'4/!
7$0&2'$8!/#-&$&-!(1'4!'5+&!-153,5/*9!52-!5**&**!'4&!,&5*#25.$&2&**!#7!
52*(&,*!0*123!,#02-123:

!

!!!! 4�{�í! 

G: <2!'4&!71,*'!/#2'4!57'&,!1'*!,&$&5*&9!55, 316!6#+1&*!#7!5!.&*')*&$$123!.##F!(&,&!*#$-:!!<2!'4&!*&6#2-!/#2'4!
57'&,!1'*!,&$&5*&9!16, 427 7&(&,!6#+1&*!(&,&!*#$-:!!H#(!/528!6#+1&*!(&,&!*#$-!12!'4&!71,*'!'(#!/#2'4*I!!<*!
8#0,!52*(&,!,&5*#25.$&I!

 

!

!

!

!

Sample Student A Response:           Sample Student B Response: 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


â
Ý, 
Û
Ù
Þ copies were sold in the first two months. 

!

 

!

 
Þ 
Þ, 
Ü 
Ú 
ß 
+ 
Þ 
Þ, 
Ü 
Ú 
ß 

              
Ú                             
Ú             
 
Ú 
Ú 
Ù, 
ß 
Ü 
Û 

!

<!-,5(!5!*4#,'&,!'5+&!'#!,&+,&*&2'!
'4&!*&6#2-!/#2'4!*126&!7&(&,!.##F*!
(&,&!*#$-!12!'4&!*&6#2-!/#2'4:!!

=#!712-!
'4&!'#'5$!
20/.&,!#7!
6#+1&*!<!
652!5--!
'(#!021'*!
#7!
55,316 52-
'4&2!
*0.',56'!
16,427:!!!!

=4&29!<!5--!'4&!
20/.&,!#7!
6#+1&*!#7!'4&!
71,*'!52-!*&6#2-!
/#2'4!'#3&'4&,!
'#!712-!'4&!'#'5$:!

�o= 
Þ
Þ, 
Ü
Ú
ß
F
Ú
ß, 
Ý
Û
à!

�o= 
Ü
á, 
á
á
â!

!

<!,#02-!'#!'4&!2&5,&*'!'&2!'4#0*52-:!J8!52*(&,!1*!
,&5*#25.$&:!!<'!1*!5.#0'!6,000!$&**!'452!/8!&*'1/5'&:!!
<!(#0$-!&A+&6'!'41*!-177&,&26&!.&650*&!<!,#02-&-!
&564!20/.&,!up!'#!'4&!2&5,&*'!'&2!'4#0*52-:!

!

�n = 
Þ
Þ, 
Ü
Ú
ß+ 
Þ
Þ, 
Ü
Ú
ß – 
Ú
ß, 
Ý
Û
à  

�n =  
Ú
Ú
Ù, 
ß
Ü
Û
F
Ú
ß, 
Ý
Û
à 

�n =  
â
Ý, 
Û
Ù
Þ 

1st Month 

!

�n 

 


Ú
ß, 
Ý
Û
à 

!


Þ
Þ, 
Ü
Ú
ß 

2nd Month �o 

  
Ú
Ý 
Ú
Û 
Ú
Ù  

 
Ý 
Ý 
Û 
Ù 
Ú
ß 
 
Þ 
Þ, 
Ü 
Ú 
ß 


F 
Ú 
ß, 
Ý 
Û 
à 
 
Ü 
á, 
á 
á 
â 

!

 
Þ 
Þ, 
Ü 
Ú 
ß 
+ 
Ü 
á, 
á 
á 
â 

             
Ú     
Ú       
Ú      
Ú          
 ! 
â 
Ý, 
Û 
Ù 
Þ 

!

<!*0.',56'!'#!712-!
'4&!56'05$!20/.&,!
#7!6#+1&*!*#$-!12!
'4&!*&6#2-!/#2'4: !


Þ
Þ, 
Ü
Ú
ß
N
ß
Ù, 
Ù
Ù
Ù 


Ú
ß, 
Ý
Û
à
N
Û
Ù, 
Ù
Ù
Ù 


ß
Ù, 
Ù
Ù
Ù
F
Û
Ù, 
Ù
Ù
Ù= 
Ý
Ù, 
Ù
Ù
Ù 


ß
Ù, 
Ù
Ù
Ù+ 
Ý
Ù, 
Ù
Ù
Ù= 
Ú
Ù
Ù, 
Ù
Ù
Ù 

  
Ú
Ù     
 
Ù 
Ù 
Ú
Ù  
Û 
Ú
Û 
 
Ú 
Ú 
Ù, 
ß 
Ü 
Û 


F  
Ú 
ß, 
Ý 
Û 
à 
  
â 
Ý, 
Û 
Ù 
Þ 

!

�n = 
Þ
Þ, 
Ü
Ú
ß+ 
Ü
á, 
á
á
â!

�n = 
â
Ý, 
Û
Ù
Þ!


Ú
Ú
Ù, 
ß
Ü
Û
N
Ú
Ú
Ú, 
Ù
Ù
Ù 


Ú
ß, 
Ý
Û
à
N
Ú
ß, 
Ù
Ù
Ù 


Ú
Ú
Ú, 
Ù
Ù
Ù
F
Ú
ß, 
Ù
Ù
Ù= 
â
Þ, 
Ù
Ù
Ù 

 

<!,#02-!'#!'4&!2&5,&*'!'4#0*52-:!J8!52*(&,!
1*!,&5$$8!6$#*&!'#!/8!&*'1/5'&K!!E4&2!<!
,#02-!'#!5!*/5$$&,!+$56&!%5$0&!021'9!<!#7'&2!
3&'!52!&*'1/5'&!6$#*&,!'#!'4&!56'05$!52*(&,:!

!
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Lesson 17: Solve additive compare word problems modeled with tape diagrams. 

 

     4�{�í  

G4-M1-Lesson 17 

Draw a tape diagram to represent each problem.  Use numbers to solve, and write your answer as a 

statement. 

1. Saisha has 1,025 stickers.  Evan only has 862 stickers.  How many more stickers does Saisha have than 

Evan? 

 

 

 

 

 

 

 

 

  

 

Saisha has 
Ú
ß
Ü more stickers than Evan. 

 

2. Milk Truck B contains 3, 994 gallons of milk.  Together, Milk Truck A and Milk Truck B contain 8, 789 

gallons of milk.  How many more gallons of milk does Milk Truck A contain than Milk Truck B? 

 

 

 

 

 

 

 

 

 

Milk Truck A contains 
á
Ù
Ú more gallons of milk than Milk Truck B.  

 Saisha 

 


Ú, 
Ù
Û
Þ 


á
ß
Û 

 

�y  

Evan 

I draw Evan’s tape just a bit shorter 

than Saisha’s since 862 is pretty close 

to 1,025.  I label the unknown as ‘�/ ’.   

I can check my answer 

by adding.  The sum is 

1,025.  My answer is 

correct! 

  
Ú
ß   
 
à 
ß 
Ú
á  
 
á, 
à 
á 
â 


F 
Ü, 
â 
â 
Ý 
 
Ý, 
à 
â 
Þ 

 

My picture shows me that 

in order to solve for �/ , I 

must first solve for �#. 

�m= 
á, 
à
á
â – 
Ü, 
â
â
Ý 
�m= 
Ý, 
à
â
Þ  
 

 Milk Truck A 

 
 
á, 
à
á
â  

 
Milk Truck B 


Ü, 
â
â
Ý 

 �m  

�y  

  
â   
 
Ù 
Ú
Ù 
Ú
Û  
 
Ú, 
Ù 
Û 
Þ 


F  
á 
ß 
Û 
  
Ú 
ß 
Ü 

 

�y = 
Ú, 
Ù
Û
Þ – 
á
ß
Û  

�y = 
Ú
ß
Ü 

 

  
Ú 
ß 
Ü 
 + 
á 
ß 
Û 

                 
Ú                       
  
Ú, 
Ù 
Û 
Þ 

 

 
Ü 
Ú
à   
 
Ý, 
à 
â 
Þ 


F 
Ü, 
â 
â 
Ý 
  
á 
Ù 
Ú 

 

�y = 
Ý, 
à
â
Þ
F
Ü, 
â
â
Ý 
�y = 
á
Ù
Ú  
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Lesson 17: Solve additive compare word problems modeled with tape diagrams. 

 

     4�{�í  

3. The length of the purple streamer measured 180 inches.  After 40 inches were cut from it, the purple 

streamer was twice as long as the blue streamer.  At first, how many inches longer was the purple 

streamer than the blue streamer? 

 

 

 

 

 

 

 

 

 

 

 

At first, the purple streamer was 
Ú
Ú
Ù inches longer than the blue streamer. 

I use unit language to help me solve.  The 

purple streamer is now 140 inches long. 

I divide to find the length of the blue streamer.  


Û�n = 
Ú
á tens – 
Ý tens  


Û�n = 
Ú
Ý tens or 
Ú
Ý
Ù 

�n = 
Ú
Ý tens ÷ 
Û 

�n = 
à tens 

�n = 
à
Ù 

�x= 
Ú
á
Ù
F
à
Ù 

�x= 
Ú
á tens – 
àtens 

�x= 
Ú
Ú tens 

�x= 
Ú
Ú
Ù 

 

   

   

Purple 

 
Ý
Ù 


Ú
á
Ù 

Blue 

�x 

 B  �n!  

�n!

I subtract the length of the blue 

streamer from the original 

length of the purple streamer.  

 

30

!"#$%"&' !$()$& *+,-"&.+"/+012-3

© 2015 Great Minds eureka-math.org 
G4-M1-HtH-1.ϯ.0-0ϴ.2015



�î�ì�í�ñ�r�í�ò

!"##$%&'()& !"#$%&'(#)* +,)%-&."/0&-/"1#%',&'"0%#%0&.*)2&)3-%&0*34/3',5 &360&3,,%,�•&
)2%&/%3,"631#%6%,,&"7&36,.%/,&(,*64&/"(60*648&

&&&& * �{�í&&

+* ,-' ,!"##$%&'(&

9/3.&3&)3-%&0*34/3'&)"&/%-/%,%6)&%3:2&-/"1#%'8&&;,%&6('1%/,&)"&,"#$%5&360&./*)%&<"(/&36,.%/&3,&3&
,)3)%'%6)8&

=8 >/*04%)&./")%&0".6&)2/%%&6('1%/,8&&?2%&7*/,)&6('1%/&.3,&!" #$%8&&?2%&,%:"60&6('1%/&.3,&#"&%$&#%,,
)236&)2%&7*/,)8&&?2%&)2*/0&6('1%/&.3,&'" (#' &4/%3)%/&)236&)2%&,%:"608&&@23)&*,&)2%&,('&"7&2%/&6('1%/,A

!" #$%&'$()$*+,-.#/0%$1&'2#+%$,%$
Ú
Þ"
á
Û
Þ3$$

B8 C/,8&!3'-#%&,"#0&3&)")3#&"7&#) "'%$&-"(60,&"7&'(#:28&&!2%&,"#0&%)")$* &-"(60,&"7&:2%//<&'(#:28&&!2%&,"#0
#"&%!&'"/%&-"(60,&"7&1*/:2&'(#:2&)236&:2%//<8&&?2%&/%,)&"7&)2%&'(#:2&,"#0&.3,&'3-#%8&&D".&'36<
-"(60,&"7&'3-#%&'(#:2&.%/%&,"#0A

4,+%/$ 
à"
Ý
Ù
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Û"
á
Ý
Û&

!",+- $


Ý"
ß
Ú
Ù&

7"#++8$ 
Ú
Ü"
Ü
Ù
Þ&

*,+6"$ 
Ý
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Û
Ú
Ù&
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Ý"
ß
Ú
à&
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6('1%/8&


Û"+ 
à+ 
â+ 
Ú+

, + 
Û"+ 
á+ 
Ý+ 
Û+
&&&&&&&&&&&&
Ú++&&&&&&
Ú&


Þ"+ 
ß+ 
Ü+ 
Ü+
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Ú
Ü+

ß+ 
Ü+ 
Ú
Ù+

+ 
à"+ 
Ý+ 
Ù+ 
Ú+

F+ 
Ý"+ 
ß+ 
Ú+ 
Ù+


Û"+ 
à+ 
â+ 
Ú+


à"+ 
Ý+ 
Ù+ 
Ú+


Û"+ 
à+ 
â+ 
Ú+

, + 
Þ"+ 
ß+ 
Ü+ 
Ü+
&&&&&&&&&&&
Ú&&&&&&&&&
Ú&&&&


Ú+ 
Þ"+ 
á+ 
Û+ 
Þ+


Ú+ 
Ü"+ 
Ü+ 
Ù+ 
Þ+


Ú+ 
Ü"+ 
Ü+ 
Ù+ 
Þ+

, + + 
Ý"+ 
ß+ 
Ú+ 
à+
&&&
Ú&&&&&&&
Ú&&&&&&&&&&&&&&&&&&&
Ú&&&&

Ü+ 
Ú"+ 
Û+ 
Û+ 
à+


Ú
Ú+ 
Ú
Ù+


Û+ 
Ú+ 
Ù+ 
Ú 
Ù

+ 
Ý+ 
Ü"+ 
Û+ 
Ú+ 
Ù

F+ 
Ü+ 
Ú"+ 
Û+ 
Û+ 
à


Ú+ 
Ú"+ 
â+ 
á+ 
Ü

�y - 
Ý
Ü"
Û
Ú
Ù
F
Ü
Ú"
Û
Û
à!

�y - 
Ú
Ú"
â
á
Ü!


Ú
Ú"
â
á
Ü&;(&1-%$()$':;<#$'&<6"$=#+#$%(<-3&
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